ZH: (2000) AFSIOHEEHl 2 (2100) X 25} (21200 WSS Mg :(2121)stu X &2 NIAIEE: (120) B & X I [StnEXRYS] [ H]

2 = S im)
o oF o AF = 9l =
B ME NN = o & M= oA
2000
L8 2 H 6,840,000 3,066,000| 3,774,000
2100
nEYL2S3 6,840,000 3,066,000 3,774,000
2120
NESFSES 6,840,000 3,066,000| 3,774,000
2121
SgmE=yNE 6,840,000 3,066,000 3,774,000
100
2 A0 AF 8,000 8,000 0
120
Za™AY| 8,000 8,000 0
201
yer2g| 3,000 3,000 0
3,000 3,000 0|01 Ler2gy|
odugH| = 2,000
SEEL = 1,000
202
L 5,000 5,000 0
5,000 5,000 0|01 2uoibl
cENENRHES ILFH = 5,000




ZH: (2000) AFSIOHEEHl 2 (2100) X 25} (21200 WSS Mgt (2121)stngX 22 NIAIES: (220) REHI ALY (SN EXNRES] [ HH]

t = ST I == e Im]
O AF oM A 2 ol =
X 2 B NIEE. HIMIE = of & o = A 2
200
A O A 6,832,000 3,058,000 3,774,000
220
NSRS 6,832,000 3,058,000 3,774,000
308
NI S 3,922,000 3,058,000 864,000
ol
3,922,000 3,058,000 864,00001 NIXIGHHEAAEXZ
oS NEXNRLZ gHet = 3,922,000
703
N=EHEE 2,910,000 0 2,910,000 | ot NEXNES2 WES = 2,910,000
JHNME2




%1 (5000) X121 %I EH 2 (5300) B2 3 2:(5310) A4+ 023 Mg (531) 84023 KIAIB: (420) 21 EF SHDEXN=E3] (e HE]
2 = S i)
e = & & | ES
e = of & % = A
5000
X LIIEr 2| 260,000 234,000 26,000
5300
o= 90,000 0 90,000
5310
=EamE = 90,000 0 90,000
5311
SESME S 90,000 0 90,000
400
VEEE 90,000 0 90,000
420
JIEl 90,000 0 90,000
308
XX S 90,000 0 90,000
0l ®
90,000 0 90,000(02 A+NE3
cSNBIRES 4023
3,000,000,0008 x 3% = 90,000
5400
ol 8l tl 170,000 234,000 64,000
5410
ol Bl bl 170,000 234,000 264,000
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ZH:(5000) IR LD|EFAE 2:(5400) 0l b HI &k (5410) 04l bl bl MIgh: (5411)0lldldl HIAIE : (410) 0l B HI SamE=PNE==s= SRR RSN
t = ST I == e Im]
o e = & 5 p) =
X 2 B NIEE. HIMIE = of & o = A 2
5411
0 M=1Rs] 170,000 234,000 A64,000
400
HylblS 170,000 234,000 A64,000
410
0: [i=Ns] 170,000 234,000 A64,000
801
o8l gl 170,000 234,000 264,000 =0l bl = 170,000
N = & H 7,100,000 3,300,000 3,800,000
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